Chapter 11 
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17.
Add the amounts in each column.
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D is the optimal choice because it has the lowest total cost.  

18.  Site D has already been selected. For each row, the cost of each column entry is
       compared with the one in column D. If the cost is greater, it is made equal to the
       one in column D. The amounts in each column are then added.
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C is the next site to be selected because it has the lowest cost total.  Column D is now deleted.  

The preceding step is repeated for selecting the next site. For each row, the cost of each column entry is compared with the one in column C. If the cost is greater, it is made equal to the one in column C. The amounts in each column are then added.
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A is the next site to be selected because it has the lowest cost total.

Therefore, the three sites selected are A, C, and D. Potential tenants from community 2 will go to c, the office complex nearest to them, and those from community 5 will go do D, the office complex nearest to them. The total cost will be 3 plus 4, or 7.  

